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Instructions to Candlilates:

Arempr any five questions, selecting one 4
carry equal marks (Schematic diagrams MY
Amv dtta you feel misving autabty be @¥5HM
quannties wsedicalcnlated must be ated clearly

1. a) v a neat sketch of 3 permanent Way on an embankhment. Name the various
Cl"ﬂp"nf’"!. ‘ﬂ’

./bl/‘ﬁ.ﬂ in coning of wheelv? What are s antages of coning” (8)
(OR)

1. a) Mentionthe advantsges of using a uniform Gauge for railway irack in a country.

pestion from coch wnlt All jpucationn
o be shown wherever accessary
ed amd stated clearly) Units of

WO duIjuonI mmm//:dny

What common Gauges are used in India? L)

b) Why creep in rails occurs? Mention the remedial measures lo prevent ceeep.

(%)

UNIF1T
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2. a) tagh a diagram show a 1y pical layout of a left hand wrnout of rallway
" trach. Name and show its various componcnts. (¥)
Vhat are the objectives of Urhan mass Trunsportation? Which Railway systenw
_—""\0f mass transpostation arc uscd i Indian cities? (8)

(OR)

2. 0) What are the function of point and crossings in a Rallwuy trach? Mention
requirements of a good crossing. ®

b) Explainthe fullowing :

i) Popular rilway Mass transportation system networks,
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i) Gaunletirack
i) Chech rails
' n)
i) Douhle tumout UNIT -1
i . vided on rallway curves? Explain nceative supef
3. @) Why super clevation is prY Banve o
"‘-"'ﬂinn
| fYerent type of Gradi jtway trach.
b) Describe we purro of d! ‘Pl‘-’ ° ients used in a Ra s
(OR) _ .
- g ,u'tltlwnﬁtll (c), width of.,-llﬂ)‘ (Mﬂd ( ";

3. a) ADeriveanexpression. KLIME D,
. dius of . .
A (V) and the K3 oviding Transition curcs of Railways? Explain

b) are the objectives of POV Loy (8)
/::\wl' length of Transition curve lif
T IV

=

5 u

2 . - o -

2 4. a) Drawa Typical layout of an international Aimort. Showing 15 R

g . pants. Rriellv mention function of tai:l‘: componest. B

=

5 i) Cross wind componen!

—

=3 i) Basic runway length

%f i)  Imaginary surfaces
iv) Runway Threshold. (8)

(OR)
4 Why corrections are required to Runway Lengths? What are the

recommendations for applying the different corrections? ®)

,/5( Write short notes on the following :

/.'}/f “rj":‘ Rose di“gmm

-ymlwl}' Pflceng,
. w in an xirpon

)
~yﬂ:ﬂwimﬂ Building and i '""“'nu. w,

!
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S. a) Whalare the siltni'lltnflra;"cl prt o
neiples of ‘“'I'ullp A\
| r . CNCey Ligtween avement
[}ES gn from dti'ﬂﬂ of hluhwl" m‘flneﬂ'l’- l"‘

b) Lxplainthe following : (W)
D Equivalent single wheel load (;:SWL)
)  Westerganrd's methud ol’mgid Pavement Design, for ull‘pun Pavements.
(OR)

_)))/‘tkscrihc the various factoes thay are considered in structurn! design of airpont
pa

WO auIjuonI mmm,//:dny

vements. (8)
—/h).f" Explain the following
\J’,b . Radlus of relative stiffness.
/.iir"(fﬂﬂ mcthod of Flexible pavement Design for ﬂiﬂ’oﬂ Pavements, (8

000000

http://s’www.rtuonline.com
Whatsapp @ 9300930012
Your old paper & get 10/-
W 9oy A9 3 10 Tud o,
Paytm or Google Pay &

L)
7,';7“‘ http://www.rtuonline.com

)

Wod duluon mmam//:dny



